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2022-26
Full Marks : 70

Time : 3 hours

Answer from both the Groups as directed.

The figures in the right-hand margin indicate
marks.

 Candidates are required to give their answers
in their own words as far as practicable.
: ) s

GROUP--A

Answer any four questions. ~ 10x4

1. What is the need of JVM in execution of |
* any Java program ? Discuss the structure
of any Java program.

(2;) Define loop. Exp'laiﬁ' all looping statements
available in Java with suitable example.

3. What is meaning of access control of a
variable and function in Java ? Explain the
different access control mechanism in Java
with the help of a suitable program.
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4. Define method overloading. Write a
program to calculate the area of different
sh.'ftpes nam_ely Circle, Rectangle and
Triangle using the. concept of method
overloading.  °

5. Explain the different usage of final
keyword with suitable example.

6. Explain how a string class object can be
created using an existing -“StringBuffer’
class. Also explain how can you find the
location of the last occurrence of ‘@’ 1n
the string ‘‘Java Programming”.

7. What is multithreaded programming ?
Explain how threads are created in Java.
Explain the need of thread synchroniza-
tion with an example. -

8. Whatis an exception ? Write an exception
subclass which throws an exception if the
variable age passed as argument to a
method and the value of age is less than

18.
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GROUP-B

Answer all the questions. 3x10

9. LExplain any two benefits of inheritance.
10. What is a global variable ?

11. What are the advantages of java program-
ming over C+ +.

12. Give one example of type casting in java.

13. What are the characteristics of static
members in Java ?

(14 Define constructor overloading.

15. Write a java program to display even
numbers between 0 to 20.

@ Explain any two usage of super keyword.
@ Define wrapper class in java.

18. What do you mean by Abstract class ?
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Answer from all the Secfions as directed.
The figures in the right-hand margin indicate

marks.

Candidates are required to give their answers
in their own words as far as practicable.

SECTION—A

Answer ény four questions of the following:
. ‘ 10 x 4
1. A coin is tossed 8 times. Find by using
binomial distribution the probability of
getting o

(@) At least 3 heads.
(b) ExaCtly 3 heads.
(c) Atmost 3 heads.
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2. State and prove Baye’s theorem.

}V Find the mean, Median and Mode of thc

following data:
~ Marks obtained No. of students
Less than 10 | \, / 5 |
~Less than 20 9 |
Less than 30 | 17
Less than 40 29
Lessthan50 45
Less than 60 60
Lessthan70 70
Less than 80 78
Less than 90 83
Less than 100 85

al * )d
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4. Calculate the correlation co-efficient for
the heights of fathers (X) and sons (¥):

70 72 67
71 68

X 65 66 67 68 69.
Y 67 68 65 72 72 69

5. Define regressmn co—efﬁ01ent and discuss
its propertles

6. Find range, standard dev1at10n and
variance for\the following data: |

87 99 75 87 94 75 35 88. 87

7. Define rando%m Vanable and dlstubutlon
' functlon of dlscrete random Varlables

8. Calculate the chl-square (xz) test from the

following data
Hb % | |
Above normal . Belownormal Total
Abovenormal 85 75 160
Belownormal 165 175 340
Total 250 ‘ 250 500
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SECTIONA-B
| Answer all qpestions; ' 3 x 10

/94 ine Event and Sample Space

0. Deﬁne Chi- Square

/ Define Skewness and Ki;ﬂOSlS -
15. Define Karl Pearson ’S Co-efﬁment of
| Correlatlon } 0
16. Define Test of goodﬂéss ef fit.
17. Write Hypothesis testing procedure.

18. Define Binomial}fdistribution. |
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Answer from both the Sections as directed.

The figures in the right-hand margzn indicate
marks.

Candidates are required to give their answers
in their own words as far as practicable.

- SECTION—A

Answ\.r any, fdm questlons 10x4

1. What is system analys1s and de31gn ?
Explain the difference between Analysis
and Design phases of software develop-
ment. | |

2 What are the various activities involved
in the feasibility study ? Discuss any three
feasibilities need to be studied during
feasibility analysis.
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3. Why is it difficult to determine user

* requirement ? [llustrate any two important
fact-finding techniques for getting
information about user requirement.

4. What is Data Flow diagrams ? Draw
context level Data flow Diagram of
university admission system.

5. Explain' common skills of a system
“analyst. Which skill do you think is most
important? L o }

6. What is need of software documentation ?
Explain. any three documentation
standards. !

\. 5

a’ Deﬁhe SDLC.‘Cofr_I‘npare_ and contrast
- waterfall model and prototyping model.

¢ Explain de_Ci_Sion table and decision tree
- by taking suitable example. -

SECTION—B
| /klliq‘l@?qtién's are compulsory 3 x 10
usesd fJ
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How can risk and threats to I'T systems be
identified and managed .

at are the issues and constraints to be
taken care of while designing a software
product ? S

What is meant by “User Interface” ? What
are the basic guidelines to design a user
interface ? - |

_I/Z(What i1s meta data ?

}6, What do you mean by risk analysis ?

J4. What is software quality control ?

157 List any thré_ze important eléments of

i

system.

16 What are software threats ?

1

17 Why software: testing is important,

- comment your views ?

18. Give example of physical and abstract |
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Answer from both the S ctlons as directed.

The figures in the right-ha nd margm indicate
. . ; \ ‘v" | /

2. Draviz thé ne w’élagram f demmal adder
/ ; 'functlo'zlng by taklng... 1

;; i,

ow do we evaluate the ari thmetlc state-
—" ment X=(4 * B)/ (C - D) using zero, one,
. 4 two or three addresg instructions.

\1‘ ;
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4. Write the difference between CI-SC-: an(}
st1Cs oL

RISC. Also, specify the characterl1
-both. | |

5. What is array. processor ? Discuss the
types and working of array processor-

- 6. Illustrate hm}vCP[ﬁJOPbdmmuﬁication ‘
takes place in I/O"‘ JroCessor., |

4 :D.,,eﬁr\.l\e )addressmg modes. Explain the
following addressing modes with

CRRS - s IV B

(a)-. Imxtji,'edi;a_i;e, adc}res Sin

y
o .
<
3

- (b) Indirec‘q,feiddr_éssin ode ) | j

_‘8/ Write an assémbly p ; gram Vto rint the
alphabet.4 t?‘;:Z. R P

-, §EcTanﬁ,

J

| L ; ¥ . ?’
All questions are ¢ompulsory 3 x 1J )

Y
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. 9. Define the follov ing terms: a. Instruction
code b. Operatiofi o 4e

. How Data transfgr 5
M govoe to CPU infragien o, o 10

Ji

|l ;
\/13 What are dlfferen,;;:types of 1nterrupts
| avallable in acqtng:,:'. ; |

T system ?
’ b\ Define MACR in@s’sém‘bly program
Ph i i Wi § : T
List any three’g;;f r portant‘ffgatures of 8085
@ processor. f:'-:ff‘}?; T i

' 16. Write short ifotes on Su-k‘be Control method
M of asynchronous data transfer

\/1/7 What IS plpelmmg ?
18 fAdd (356) and (173)

l b
oA
#
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| Answer from both the Gro ps as directed.

The figures in the right-hand margin-indicate

marks
\ P

Candidates a e{reqﬁred to give their answers

in their own words as far as practicable.
b 4 f . ALY
| © GROUP—A J
~ Ans{wéf?nyl four questions. 10 x 4

//.' Define data 'str‘u’z:tufe. Explain different
types of‘data ‘strqcture

\/2( Define lmked list. Wnte a C program for

:i.m‘ay implementation of a singly linked
ist

‘3. Define Stack. Explam ‘how to evaluate
arithmetic expressmn using stack.
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A What is Queue ? erte a C function to
perform msert10n and deletion on Queue.

S. Define Bmary Search Tree (BST). Write
an algorithm to construct a BST

Y4 What is a trhversal of a Binary tree ?
Construct the Binary tree with the follo-
wing tree traversal f |

Inorder 4 '8, 2, 5 1*‘6 3,7
Postorder 8 4 5 2 6 7 3

Define AVL tree. Constl:uct an AVL tree
with the following data.

21,26, 30, 9, 4, 14, 28, 18

8. What is Merge sort ? Explam the proce-
dure of merge: sort W1th the followmg data

6,2,11,7,4,3,19,8
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"GROUP-B _
. Answer all the questions. - 3 x10

9. What are the limitations of arrays ?
10. Define polish notatlon
11. What is B1g /ph netatlon 7.

12, Compare betwee’w linear search and binary
search.

13 ‘What is complete; bmary tree ?
4. leferentlate between Graph and Tree.

| ),5 Write about the sparse array.

p46. What is a.spannm'g tree ?
17. What is Hashing ?

18. Define Circular Queye.
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